% 8 6 M HASHFZEREFHEKABRRRE

BARAASRAR—YTSHHA LT 1) —F

AZ—FYR b
giNo. 7 &F 410m TU—yUL— FE M4 BRI 3140.59
_ SEEE  3146.83
KB 7L & K EZE
i
14
0
1
2
3 ABXE it 15 (FE i N 13 1
hohs’ 429 B 14 S %A 1 37 =1
13 HW til THEE H &3
17 B R#E #4911 =1
4 EHRIE E )l 1533 EEEDE ghny 1% =1
shRyaYH’ B 1531 B FH 153 F1b &
1532 BE HX 515 ¥F &
1530 B Hib TN 9 U4 =3
5 WEKS i 6 EA RE TH Ut 21
1152 B 13 OHEE EN WA vk =1
4 )T P79 23 &1
72 BE B It + 74 &2
6
7
8
9
Page: 177 Printing: 2016/08/17 10:54:26

SEIKO



% 8 6 M HASHFZEREFHEKABRRRE

BERHARAKR—YTSHHLLT7)—F

ARA—FYR b
WfENo. 7 ZF 4&x100m JU—JL— FE TH Bk 3:40.59
_ £E08%  3:46.83
K  F—LE B k& PE
AR
248
0 @R IT = 1518 KA =& 9F8 74 =3
VLEED =21 1521 £H ZEf hth 3 =1
1519 ErRK B HE 34 52
1520 RKE B=E g 193 =2
1 deis o8 832 A T|fE $HEM 740 =
LYW =15 836 A% BB v TUt =
831 jihva & 14 AUED] =3
835 TR BHE 4RI 4T =1
2 BHEFE E W 871  FHiIb =& Y9 322 =
ahthyan =15 8710 SH Fi¥ 139" )3 =
872 Lk KF O F MR 52
873 WORFIK 90 F 11 =2
3 ez = 104 @A RIE S NED) =
8 4Zh =8 106 EEF LR ) oE Y =3
107 EER EfI AT 30 =
106 HO E#H 1 F 12 =3
4 =% = E 1662 ZEAR Rk JHEM 473 =23
'Y =% 1663 Rk B 1M nt =
1667 FF & VIELE =
1661 BEX ¥m IVEh H4h =3
b EBHEFE B [ 962 ®H¥ /NME Th) a1y =
1M79 =15 964 MR HBE vy gt =
956 JKEF =8 AV =3
959 fEO AATE t9" ¥ H/h =3
6 FME [ W 1475 bl E23 7707 744 =]
VLV B2 1472 REBREF 1477 #v =3
1473 =¥ #iE B0y 13 =3
1474 BH %2 794 %1 =3
7 #iIgK® itiEE 4 EE INE HF74 I =]
$yif° Otts =8 48 JIIFH FiM 774 3 =1
43 fRiR R 14417 Va9 =2
47 M SEME YAE 4 =3
8 it T I 1563 HA WE 4930 &K/ =3
EPAKEZ Y] =R 1568 ER Xk NI 3% =
1564 K¥q %2 =y 7hY 52
1565 ER FiE AT D7 Ftm =2
9
Page: 2/7 Printing: 2018/08/17 10:54:29

SEIKO



% 8 6 M HASHFZEREFHEKABRRRE

BERHARAKR—YTSHHLLT7)—F

A3—FJX b
WfENo. 7 ZF 4&x100m JU—JL— FE TH EiE0sx  3:40.59
_ £E08%  3:46.83
KE F—L4A m 8 k& FE
2R
348
0 HEXS * 193 B # AR Y 1F =2
M5 439 =21 192 XRE 6D Y/ 1k =2
191 EE BB #9108 v =2
189 #lR FHE hith vty =
1 AR E W OB 117 e EE Thy' v 3t =2
K. Bunkyo X5 1172 %% 2% 115" L9 =
1166 A FEEF thEM MU/ =3
1167 HHETEE VR =
2 XE=R B E 388 EAIGE M7 bR 22
vy anth =Y 389 {£E# B # #% =1
392 kR BTt #hg Yuh =1
386 THEF EEB v/ b =3
3 REREER EIRE 1753 kB Z%E& hUy 3 =
y VAEL] = 1758 e #hiE +hY3 1 =)
1754 RE= il 9 h1y =3
1756 =aF 3 - 5 thh7 33 =52
4 HHEIIE B R 492 B8 ER Y8z Nt =3
byayyyy =R 494 M)l BER oot =
491 R+ Fi ¥43 1) =3
493 Rl BEX "W v =3
b  KEpkiz X I’ 1234 {EZHBAEFE 18 7Ah =3
T4 =R 1239  WAXRTHN YYEb A3V =1
1240 A== A Y3th 3 =1
1236 Bk i by ERZ =2
6 KA % [ 977 #¥H A= N5 73 =
N+ =Y 981 #AWL EFE 4 hik =
978 JIIR HK mE =2
976 WAZE/ B YvEh 3/Y =2
7 ERFE X B 1221 =ZE B® 78 F 4 =
978" 91y =8 1232 0% FE L3 nt =1
1228 R E&EL Ny 9% =3
1230 E&B =F 74FA" 31 22
8 mH F E 399 EH HE 174 713 =3
U439 =R 402 Hh it 4th nt =
400 e B Ath 19 22
401 NI FEE 9 454 51
9 ERFk * B 207 i B ¥ 98 =3
VAELYL =15 210 @Bl = 794+ 74 =3
206 KkEZFE 5 hvh v3 =3
212 IN\E g|E 1/ h =1
Page: 3/7 Printing: 2018/08/17 10:54:32

SEIKO



% 8 6 M HASHFZEREFHEKABRRRE

BERHARAKR—YTSHHLLT7)—F

ARA—FYR B
BHEENo. 7 ZF 4&x100m ZUY—yL— F#E T4 EiE0sx  3:40.59
_ £588  3:46.83
K F—LA m o= k& FE
i
448
0 HBXKER F E 453 WB FM YWYV hib =3
bIR4ITHR =R 457  INERE(X D T3 nt =2
458 BB EFE 17 +9% =2
456 w1 AR ahvy 79" % =
1 PKRFEE X B 1262 AL 2k 1)1 3 =2
NI RE (=Y 5 1259 g =0 JTh 74h 23
1261 FAEEEHR 7N IV =2
1260 A A¥ 19h7 7% =
2 2% B E 323 LEEHLGH 9ING 313 =1
v/ =15 324 SH BER 131 V% =
320 A FE Y F Y =3
321 BEHEFK a4 34 =2
3 KAEKEE X B 1256 &1 =m 7HYY 3% =
F3Y39ama =8 1268 A fE3x Y F 0y =1
1254  HE FEMW Wt hut =3
1255 RKE ZEE 117 744 22
4 WREZE wmE| 173 HH #X #1457 1t =3
b{vh" H1 =R 776  FEERENE YN Y3 =2
718 #E =7 hon” 747 51
715  IEE BE #° vab =2
b Ik T I 1575 =% &BF 313y 73 =2
79N =15 1576 FH %= t34 1% =2
1578 R = 1273 b =1
1577 FHih EHE ¥ 33 =1
6 e B E 352 Al [Ed] 1745 3 22
71y =15 47 mll &< 1Fh7 3 =3
345 £F  E h4a 7 =3
348  dFEALTE Thh3 ++h =3
1 BE—%F 1w E 332 {EAREEEK #4937 73 2
9347V 3 =R 329 HEE &1 53 19h =3
B Rk HE TN 9 h =2
328 mH EH 14 =3
8 Eqi5 B R 472 e EX 31 )t =22
wn =R 473 Nk RI1K hby 31 =
476 Hif BHF AN 4 1 =1
4710 fRE A 1493 9% =
9 iR Tk & 1362 HiEFEAIFL vth 7hY =3
ICHIAMA =15 1367 =K BE % UMt =1
1366 £FIFO= 143 % =2
1363 REFAAE Tt/ 113 =2
Page: 4/17 Printing: 2018/08/17 10:54:36

SEIKO



% 8 6 M HASHFZEREFHEKABRRRE

BERHARAKR—YTSHHLLT7)—F

AA—FJR B
#mHENo. 7 ZF 4x100m TY—UYL— FE TH =R 3:40.59
_ £E08%  3:46.83
Kig F—LA m 2B K& FE
e
5%8
0 BHKIGTE Z AN 992 FH ¥*A MTFUE =1
MIZUHO =R 994 EHBRE h3% Vit =
990 k& 2742 hIT =2
986 FFO MK 7 F 4 =3
1 ®Ei = W 129 tE F& thy ) Fto =3
VY =R 135 A% EBF £h7 19 =2
130 Rk #% 19 A2 =3
137 {Rik @& by 7Ly =1
2 NEF R R 527  HASHRRIEER W93 7 =2
Ny =R 528 #K HIK AR F 1 =2
522 EiRELE YH 33 =3
521 JIKEHHE WISIVIR =3
3 HEEIKH FEINN 645 HIF =& 194 % 319 =3
VEVIPRD) B 641 HEt HRE VA =3
652 FM i Eth 73 =1
655  {k 4 ARELH W 13 =1
4 REREE B R 500 WHHNEE 1 b} =1
ZUIVYY = 587 @ AAtH yany' M3 =2
586 &K &/ AR % /Y3 =3
589 At EE EENUIEER =2
5 ZAEFHE 'k & 1401 @R HKE ZYh3 7 =3
AV ALY =R 1400 deHUOMY 44 th) =3
1410 HE EMW 4791 Tk =1
1402 &% F# b T =3
6 EBZ FEIN 709 BHO B th F 19 =3
H9t4= =R AV S -1 343y 3 =2
710 £k =/ ¥y 39 =3
4 &Lt BN L33 ik =2
1 TEBRfER 12 318 WA XEA YIEF WY § =1
N M =Y 309 FEjNI Bk E347 #93 =3
307 FHE HE $4by 19f =3
35 HAH# 2 194 31 =2
8 EEXF ¥R 1778 t#E & MY Bl =1
th* thtts = 826 [RE IRk N34 43 =3
1777 £F /R h#a 3% =2
825 @k &b 7t 37 =
9 HHE B =R 608 /MR XE w3 7% =
t/5 =R 611  Bp#t =ik /L3 *auh3 =1
606 &K 8 AR F =2
603 HR&ER FE Ny F1Y 53
Page: 5/7 Printing: 2018/08/17 10:54:39

SEIKO



% 8 6 M HASHFZEREFHEKABRRRE

BEAAA S RKR—YTSHHALT7)—F
ARA—FYR B
HiNo. 7 ZF 4&x100m ZUY—yL— F#E T4 B0k 3:40.59
_ £ECEk  3:46.83
KiEE  F—L4A B K& FE
i
648
0 ThiZH L B 1498 T 5=iE YYYE vauh =2
FEZ] =R 1494  }E#F = 9IL3 W7 =2
1496 lUAX F= YEh 7hT =2
1492 EZE #§ BhR A9 3 =
1 KBRFERXS X B 1333 HE KE 3N 3y =2
44443939 =R 1338 2l EF=E wrv F+ 51
1330 W/ E=E IWNF 1% =3
1326 %R NG It =3
2 HRERXHFERE A 1057 #EH o AVAEY =
CHUKYO =R 1055 R BE v 3t =1
1054 K& #EK h % 14 =2
1056 Af EE WISEY) =1
3 XH = R 1432 JIIFE IR Iz 7Y =
FYa%aY = 1429 AA  #ATE h7% w4 =2
1427 HB EB 1 b % =
1431 &+ 8BS 4347 V2 =
4 2 Z 1098 MW =& 49F 74% =3
FA739 =R 1101 +H FEZ b4 OBy =
1100 S#H =47 194 3/Y =
1097 43 A 194 Wt =3
5 EEKH X B 1350 ;EME EERE Y5 EI =
045747 =R 1351  #ih RE ¥ 3Fh =
1352 #M  HFE WY ¥t =
1349 /ME  EHT =AY =3
6 BXE FE=J 677 IMFR B Y 933 =
27584y = 676 m,ﬂlﬁw U A7 F 71 =2
678 EH W vI8 47y =2
681 E.:Eﬂ ﬁﬁ? V4" 11 =2
7 IL—TFILERR B K 1730 HBHE §= 4791 33 =
=5 =2 1729 ®HK EF % nvh =2
1726 #MA EX MY U4t =3
1732 AREERE bk 4 =1
8 Pl FIEIT 1437 HPESH 4hth btz =2
DhYeEsan = 1439 AR XiE 7V E 73 =
1438 HE Hif ht 7% =2
1441 #F  BE ) 741 =3
9 BEN&F B R 501 &BBAR HEH IPEN WY =
7Y L3 = 502 AKX EBF YIRT 194 =
505 EH T 4 Ay =2
504 IR Ekk 14 3t =2
Page: 6/7 Printing: 2018/08/17 10:54:43

SEIKO



% 8 6 M HASHFZEREFHEKABRRRE

BERHARAKR—YTSHHLLT7)—F

ARA—FYR b
WfENo. 7 ZF 4&x100m JU—JL— FE TH Bk 3:40.59
£E348%  3:46.83
KiE  F—LA& FTE:] e KEE
S
T4
0 REFN=EBe FE 424 2 xB Y b 52
VEUDY L =21 419 INEF EH 1/ v =3
420 B HH b0y 7179 =3
426 5 FH A Y1tk =1
1 K& B = 549 BEAEEREF NER $)8 =1
N 21 541 RE AR Tt 74 =3
548 SHERE wl W =1
543 &#F HL nEy 74 =3
2 REVSL KT = A 1186 THO AhH 44" EOh =3
KGN =X 1199 EBE# 4 WIS E! =1
1185 XK = 9% 744 =3
1194 Es HE 7434 I h =1
3 HEBREHERE % E 286 AIE HZ= °3 Lt 52
¥3914 =8 284 bRt XF thh3 734 =2
291 Bl EF TAH7 3bt =1
280 #58 tH=E Yr vt =3
4 BX#ER B 755 Qo ¥EE My F N3 =1
3 =K 748  WF EXE ot =2
746 ZREESE Y 4 319 52
756 EL ATt 20%Y TED =1
b HBEX B X 3713 #HH ) hvs oz 52
VEE XLy =R 369 WA FEE IYEL +3 =3
372 PR M 79°93 14 =2
367 KB = +h° YT =3
6 HEEE % M 944 Wk FEH W 49 =1
JYR 1 B2 938  FEHhERFH Y4y 117 =3
940 Hig BHE A3 Wt =3
943 Kith IRiE T 3% =1
1 RBlxzE T A 1008 HIJII ZEB 187 b3 =2
SUGIYAMA =X 5 1000 FHAH B E)9F Mt =3
1011 /R #E7F /% N2 =2
1001 B + Ay 713 23
8 HBXWFE 1T 155 g BE nhy 1t =1
ZF841Yh =15 150 FEEMDOA Ly LUV =3
1561  ZEiE =k #4by 354 =3
149 BEHHER BBty 1t =
9 Espeidi] X 1281 A GED 334 AR/ 52
VENEE VE! X5 1283 #M &KX MY I =2
1286 Ktz =fE A% b =1
1279  GERIEFEDH N4 b/ =3
SEIKO Page: 7/17 Printing: 2018/08/17 10:54:46



